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Instructions :-
(1) All questions are compulsory.
(2) Question no. 1 to 5 are objective type.
(3) Question no. 6 to 26 has internal options.

(4) Draw diagram if necessary.
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1w e g ik - (sx1=s)
i) afk A={1,2,3,4,5),B={3,4,56),T@ ANB &I 4 &I —
@ {1,2,3,4,5,6) b) (3,4,5)
© ¢ d) {3,4)
Gi) AR x+2,y-2)=@G, 1), @ x iR y & 7 forfag -
@ x=2,y=3 b) x=3,y=2
© x=3,y=4 ) x=1,y=3
(i) |5 @7 719 BRI —
(@) 720 (b) 620
(c) 120 (d) 24
(v) (x+y)> @ TR § G ga1 B e il —
(@) n (b) 2n+_1
() n-1 (d) n+2

(v) 1+iV3 &1 AMIG BT —

(a) 1 (b) 2
) 3 d 4
. 740 [741 O-C] Page 2 of 16

https://www.evidyarthi.in/



Choose the correct option -
(i) IfA={1,2,3,4,5},B={3,4,5,6},then the value of AN B will be -
(@ {1,2,3,4, 5,6i (b) {3,4,5}
() ¢ (d {3,4)
(i) If(x+2,y-2)=(3, 1), then value of x and y will be -
(a) x=2,y=3 (b) x=3,y=2
(c) x=3,y=4 d x=1y=3
(iii) The value of |5 is-
(@ 720 ‘(b) 620
(¢) 120 (d) 24
(iv) Total number of terms in the expansion of (x + 2y)*" will be -
(@) n (b) 2n+1
() n-1 ©(d) n+2

(v) Modulus of 1 +iv/3 is -

(a) 1 (b) 2
© 3 d 4
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W2 R W Y - - (6X1=5)

W Y TWH 9
. T
(i) tan2x | (@ —= X & A9
(i) T A (b) tan®x
1 2tan x
(1) cosx= 5 (¢) -
(iv) sec?x - 1 @) nn+ (-1)“~g
(v) sinx= % (e) 2nm+ -133

() 1+tan®x

T
(g) nm=* <
Match the columns -
Column “A” | Column “B”
(1) tan2x (a) -ig-a X Degree measure
(i) Radian measure (b) tan®x
I ' 2tanx
(111) cosx= 5 (c) -
(iv) sec’x - | (d) nmn+(— 1)“%
. | T
(v) sinx=-: (¢) 2nmt 7
(f) 1 +tan’x
(®) nmt>
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U3 U K /19T H SR Qg — (5X1=5)
() I8 wqead o mal @1 w9 A 8, 3 $Ed 87
(i) TP B (x)=2x + 5 gRI1 uRif¥a &, @ £(-3) &1 79 fafay |
(iil) 30x < 180 ® x &T A9 FT BN1I?
(iv) B — "I=13 ARG P TSI 87, &1 Ao forfg |
(v) e R 95 XY ad 4 2, a1 591z — <z g
Give answer in one word/sentence -
(1)  Write the name of Set in which the number of elements are finite,
(ii) A function is defined by f(x) = 2x + 5, then write the value of f(-3).
(111) What is the value of x in 30x < 180?
(iv) Write negation of the statement- “Chennai is the capital of Tamil Nadu”
(v) If a point lies in the XY — plane, then its z — coordinate will be?

y4 e/ fafag - (5X1=5)
() IR e W § 99 ofgwd B, 09 99 SUaqeEdl $1 A 8
gl | -

(i) z=a+ib & GFH Z=a+ib =rm|
(iii) ax?+bx +c¢>0 Ra® AfAHT B |

(v) L @7 W 24 B
15

(v) (a+b)" BT fOER a'+ °Cia" 'b+"Cra" ? b*+...+"Cr a " b'+...+ b" 81|
Write the True/False —

(i) If number of elements in a set are three, then number of subsets of that
set are 8.

(i) The conjugate of z=a+ibisz=a+ib.

(iii) ax?+ bx + ¢ > 0 s linear inequality.

(iv) The value of :“1_— is 24.

(v) The expansion of (a+b)"is a"+"Cya"" ' b+"Cza" 2 b*+...4 "Cea " b+...+ b".
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%5 Ry My A § 9w Rew g Rad @ @ g difre - (5X1=5)

() a,=2n+5%az=....... -. - ~(11/6)
i) 2o 2, 4, 6..F7 5 df UG ............. BT | | (12/10)
(iii) WRaT y? =- 4ax B A SGT B TS oo BN (287 42)
(iv) & fgalt P(xi, yi, z1) A1 Q(xa, y2, 22) & A @ X B
PQ=ooiiiieeiiieiens [(\f(x2 “x)2+ (y,-9,) + (2 - 21)2) /

(J(Xz + x )2 + (Yz + }’1)2 + (2, + 21)2)]
(v) IR B wew AR wlwa = 8 @ wen A FE B wiw
2 .9
Gl (ﬁ / H)
Fill in the blanks using correct alternative - |

(1) a,=2n+5,thenaz=....... - (11/6)
(ii) Fifth term of series 2,4, 6, ... iS......eeoveveeereeenns | (12/ 10)

(iii) The length of latus rectum of the parabola y*> = -4ax will ‘be
.............................. (2a/ 4a)
(iv) The formula of distance between two points P(xi, yi, z1) and

Q(x2, y2, z2) is PQ = ........ [(J(xz—xl)z+ (Yz —&1)2+ (z, - 21)2)/

(J(xz +x)% 4 (}'Z + Yl)z + (z, + 31)2)1
(v) If % is the probability of an event, then the probability of the event.

‘not-A’ will be......... (”,E; / ’.“9})

740 [7410-C] Page 6 of 16

https://www.evidyarthi.in/



U6 U A=1{1,2,3,4,56) 79 B=1{2,4,6,8),d A-B3R B-A od

SQEM = @)
If A={1,2,3,4,5,6) and B = (2,4, 6, 8}, then find A — B.and B - A.
o /OR |
T W B g fafau |
Write the definition of ‘Power Set’.
97 fagalt (1, 3, 3) AT (2, 4, 5) B Ny W T T AR (2)
Find the distance between the points (1, 3, 3) anld (2, 4, 5).
i /OR

fg P(-2,3,5),Q(1,2,3) 3R R (7,0, -1) ¥ & gurfzgy|
Show that points P (-2, 3, 5), Q (1, 2, 3) and R (7, 0, -1) are co-linear.
, |
%8 lim ’;—7“ & AH ST BT | (2
X — - L

x2-4

Find the value lim .
x—0 x-2

3gdar / OR
X=5 W 2x* -1 P JaqBHaS 31 PITT|

Find the derivative of 2x* -1 atx =S5.

g9 fo=feiRaa s wem & ues $u foRey - . (2)
AT 3 JUTSY 3R w2
Find the component statement of the following compound statement —

Number 3 is Prime and Odd.
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3erar / OR

(@) frdY smga & <1 Rl @ dagat wwE 8|
@) V7 v uRAy G
Write the negation of the following statements —
(A) Both the diagonals of a rectangle have the same length.
(B) V7 is a rational number.
v10 f=feRaa sifwsl @ forw wrg & wer Wy fage sma HIRY — 2)
3, 7, 11, 10, 6, 4, 1
Find mean deviation about the mean for the following data —
3,7, 11, 10, 6, 4, 1
- JEr/OR
‘sifesl b1 URARY @1 27 Irervr IR |
What is the ‘Range of Data’? Give an example.
w11 Rig dfig - | (3)
wr) (1o

tan Gx) i - tanx

Prove that —

tan (4E + x) (.L_i tan _,;)2

[ - tanx

tan (:—; x)
31ar/ OR
Rig @Ry —
sin (x+y) _ tanx +tany
sin (x-y)  tanx-tany

Prove that -

N_ll(h +y) _ lnx +tny
sin (x-y) T -t y
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912 fr=ifelRad @ a+ib ® 9 # yRafda #iforg — (3)

5+ V2 i
- V2 i

Convert into a + ib form -

5+42 i
1- V2 i

30d1 / OR
& T s GvE BT " s Sifew —

1+ 2
1-3i

Find Modulus of the given complex number -

1+ 2i
- 3

913 AR "Co = "Cy, Tqq "Cys ST FRNT| (3)
Fmd nclﬁ ,lt an. = “Cé.

3ar / OR
‘BHOPAL’ 91« & 3Rl # ¥ U@ &) qeud: dael (& IR IUAN B0
feber srelyet a1 arfde v 991 waa €7

How many words with or without meaning can be formed using all the letters
of the word ‘BHOPAL’ using each letter exactly once?
Y14 (2x%2-3y)* &1 TR HR | (3)
Expand- (2x> - 3y)* |
Far /OR
(3x + y)® BT HeY Ug HA BT |

Find the middle term in the expansion of (3x + y)®,
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915 afT A=(1,2,3), B=(3,4} 3R C= (4,5, 6), a" Rrg Aifrg — (4)

Y.16

917

AX(BNC)=(AxB)N(AxC)

IfA=1{1,2,3}, B={3,4) and C = {4, 5, 6}, then prove that —

AXBNCO=(AxB)N(AxC)
qar /OR

AT f,g:R>R H f(x)=x+3 T g(x)=2x+2, T f+g, f—g,ﬁ,fg

ST BT |

Iff,g:R—->R ,f(x) =x + 3 and g(x) = 2x + 2, then find the value of

f+g, f-g, i,fg.
TBRT V3x2- V2x +3v3 =0 B 5T AR |
Solve the equation v3x2- v2x +3v/3 =0,

JYar /OR

3 B e wu § aRafia D |

1-2i

1 +3i
Convert the complex numberﬁ- in polar form.
-zl

f=faRaa arafferelt &) ga oo —

3(x- 2)

5

(1) —-15< <0

3x + 11
2

(i) 7 < <11
Solve the following inequalities —

(1)  —15<—--—

()
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Jq¥ar/ OR
U fefar & ura v & 12% facas & 600 ofiex B | w1 g & 30%
I a1t faera @ e ofer o fyamy ol anfd aRome fAsrr & s
@ AT 15% A A0S W 18% W FH B |

A manufacturer has 600 litres of a 12% solution of acid. How many litres of
a 30% acid solution must be added to it, so that acid content in the resulting
mixture will be more than 15% but less than 18%?

718 A} @8 2x +y-3=0,5x +ky-3=0 3R 3x;y—2=0i'=|;‘TFﬂ g,k
&1 AF ST IR | | . @
If lines 2x + y — 3 =0, 5x + ky — 3 =0 and 3x - y - 2 = 0 are concurrent, then
find the value of k.

Jgar/ OR
W 4x + Ty -3=0 3R 2x -3y + | =0 & Yo fdg & o areh Y@
Wﬂ'mmmamaﬁﬁq,mzﬁma&ﬁﬁmemmw%|
Find the equation of line passing through the point of intersection of the lines
4x + 7y — 3 =0 and 2x - 3y +1 = 0 and cutting off intercepts on the axis are

equal.
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.19 qmuf:léxﬁﬁmﬂa%ﬁ'éw, ey 3R fArar & adieERr 3R A1

9.20

Sitar @ 918 Fd B |

@)

Find the co-ordinates of focus, equation of axis and directrix and length of

latus rectum of parabola y* = 16x.

Judqi/ OR

drefger 36x2 + 4y? = 144 B AT iR ot & Fdwis, G ok oy e

B TRl qAT Sepsdl ST DINT |

Find the coordinates of the foci and vertices, the length of major and minor

axis and eccentricity of the ellipse, 36x* + 4y* = 144,

sin x

P AqHAR ST DI |

l+cosx

sin x

Find the derivative of :
l+cosx

3eqqr / OR
lim S 1 9 @ ARG
x —»0 sin3x
Find the value of lim H?nsx .
x —0 sindx
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%21 W qey i d AReel @ W A @ 4 @ @ o 9 e e
AT &, WRar gra e & afda afify §- o (a)
(i) < qo¥ 3R T Ak &)

(iiy &9 go9 3R Us wfeern @)
A committee of .four persons is selected from four men and three women.
What is the probability that the committee will have-
(i) Two men and two women.
(i) Three men and one woman.
IFJar/OR
gl A 3R B 39 UBR & P(A) = 042, P(B) = 048 3R
P(A 3R B)=0.16, 99 1 BHiforg—
(i) P(B el
(i) P (A a1 B)
A and B are events such that P(A) = 0.42, P(B) = 0.48 and P(A and B) = 0.16,
then determine-
(1) P (notB)

(1) P(AorB)
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¥.22 150 ARkl & Uh GderT H 74 afdd Q9 &1 %49, 100 Afad da &7 I,
36 Afdd |e TAT Ha¥ SHI BT 9 NG Bd &, o9 00 afderal @) e
S1d PTG, Sl 9 1 99 & T U6E ad & IR 9 daR BI? (5)

In a survey of 150 people, 74 like juice of apple, 100 like juice of orange and

36 people like apple and orange juice, then find how many people like neither

apple juice nor orange juice?

3dYar/OR

I U={1,2,3,4,5,6,7},

A={2, 3,4},
B=(3,4,5,6), a9 o HT —

(i) A (i) B (i) A'NB’ (iv) ANB
e g IR ~ (AUB)=A'NB’
If U={1,2,3,4,5,6,7},
A={23,4),
B={3,4,5, 6}, then find —
(i A (i) B' (iii) A'NB' (iv) ANB
and prove that- (AUB) =A'NB’
523 g g - Q)
oS 2x cos E — cos 3x cosgz—x = sin 5x sin%
Prove that —
COS 2X €S E — ¢0s 3x (:0522EE = sin 5x sin%
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Y91/ OR

Rrg aforg —

(sin7x +sin5x) + (sin9x +sin3x
( ) = tan 6x

(cos 7x +cos5x) + (cos9x +cos 3x)
Prove that —

(sin7x +sin5x) + (sin9x +sin 3x)

=tan 6x

(cos 7x +cos5x) + (cos9x +cos 3x)

N24 URE S QUG WEm n B fry Rig @R B 90— 30 6 § Renf g
gl (nx1) | (5)
For every positive integer n, prove that 9" — 3", is divisible by 6. (n > 1)
JUqr/ OR
e SmTEe Rigia @ fig @y —

124+32 4+ 52 4... & (2n — 1)2 \_ ﬂ(2n—1; (2n+1)

Prove that by, Mathematical induction —

12432 4+ 52 4 .o 4 (2n — 1)2 = D@D @niD)

3
Y.25 3[9%H 5, 55, 555, 5555, ... @ n UG BT INT S I | (5)
Find the sum of sequence 5, 55, 555, 5555 ...covvenen.. ., to n terms.
Fgar/ OR

3 3R 243 & g AT TONR ARG g1 PN |

Find the three Geometric mean between 3 and 243,
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u26 = sifdsl & fog Ara & amer wrey e sma Pifore— (5)

Xi 5 10 15 20 25
fi 7 4 6 3 5

Find the mean deviation about the mean for the following data-

Xi 5 10 15 20 25
fi 7 4 6 3 5

34qr / OR
fFrafeRaa sifwsl @ fore weror gen w\e REed g @fo—
6, 8, 10, 12, 14, 16, 18, 20, 22, 24

Find the Variance and Standard Deviation of the following data —

6,8, 10, 12, 14, 16, 18, 20, 22, 24
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